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Coefficient o ﬂ in (1 — x)2008 (] + x + x2)2007
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An ellipse is passing through foci of hyperbola = T = 1/and product

of their eccentricities is(]) then the length of chord of ellipse passing
through (0, 2) and parallel to x-axis is r (0e,0)
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If tan—1 x + tan-! 2x = %, then find number of solutions.
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T S
if lim SRS X)-X _ —k bon the value of k is \’EZ - )/ﬂ
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If 20t term from the end of the progression
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Difference of subsets of 2 finite sets witr@ G@Iements, IS 56 then
find distance between (m, n) & (-2, —3).
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If « and = are two complex numbers which satisfy the equation
andespectively, where z, = 1 + i, then the value of 5|al? is
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(x°—x*)

The integral f @m_l (o) dx is equal to:
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If 2tan? 6 — 5 sec 6 = 1 has exactly 7 solutions in [O, “2—"] for least value

of n € N, then Zn zinis equalta ____n="(2""]
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An urn contains 6 white and 9 black balls. Two successive draws of
4 balls are made without replacement. The proboEuhty that the first
draw gives all white balls and second draw gives all black balls is:
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The vertices of a triangle are A(],2,2),B(2,1,2) & C(2,2,1).

The perpendicular distance of its orthocentre from the given sides
are ¢, £, & £5. Find the value of ¢ + #5 + #3. = ’5/6 = A .,L\.'L )
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If the mean of 15 observations are 12 and S.D is 3, But upon
Rechecking we found that observation lzmrongly written as 10
If the new mean is p and new variance is ¢2 then find the value of
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A is the area of region 0 <y < min (2x, 6x — x2), then find 12A.
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Equation of tangent to circle (x —a)2+ (y = B)2=50isx +y = 0.
find (o + B)2.

CP= 5
0(+E| = Jso
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There are four boxes A, A,, A; and A,. Box A, has i cards and on each
card a number is printed, the numbers are from 1 to i. A box is

selected randomly, the probability of selection of box A, is 1—10 and
then a card is drawn. Let E; represents the event that a card with

number ‘i’ is drawn. P(A,/E,) is equal to: A
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te ™ =_ec(z-1)+c N
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A circle cuts two perpendicular lines so that intercept on each of the

line is of given length. - 9= h
The locus of the centre of circle _
—_— ) 'f =K

K+

a hyperbola of eccentricity 5/4

‘}hyperbola of eccentricit@

an ellipse of eccentricity 4/5
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Sin2x
If Jsmxsme ogelsm3x| —@logelsm5x| + C, then |p - q| is equal to
(where C is constant of integration)
@ 1 [Sin(sw%-2%) da 7=3
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Ais a2 x 2 matrix, I is 2 x 2 identity matrix. |A - xI| = 0 has the roots -1, 3.

Then the sum of diagonal elements of A2. A= [ b
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" + o a{x.
0 <a< Lf £% = value of the integral /{I f{/' )

1-— 2acosx+a2
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For x < (0, 3) flis T

X
a(x) = 3f(§) +£(3 — x) and(f " (x) >@vX € (0,3),

If g(x) is increasing in (a, 3) and decreasing in (0, a) then find a.

a'(')k):

3/{'(1‘/5)"){"" £33 (-1) >0

{Wf F(*) = $(3-xy< o K=,
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2xX+3
2x+1

and

Let f:R—{—%}—»R and g:R—{—%}—»R be defined as f(x) =

|x|+1

g(x) =@+5then the domain of the function f(g(x)) is: - - 5o
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3 33
1 5 a+—|
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Let (x2 — 4)dy = y(y — 3)dx satisfying y(4) = %then v(10) is equal to

1 — 84 ‘a(\a“))
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Let the image of the point (1,3,7) in the line - = y;—l = ? be the point

(o, B,y) then which one of the following points lie on the line passing
through (o, B,y) then which making angles g& %" with y-axis and
z axis respectively and an acute angle with x —axis?

@ (1,2,1 —V2)
(3,43 — 2v2)



JEE MAIN 2024 = = PAPER DISCUSSION

If f(x) = mox{sinx, COSX, %} then the area of the region bounded by the

curves y = f(x), x-axis, y-axis and x = 2z is
AN\
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